PE27TFERERPVF 2P I EFEECRS

=% AERKAYYI—=05T(6821Yards Par 72)
28 1 (4813808)
TYRD—: 1328
B 1218
V) BEl FhiE 237 V) Bl FhE 237 V) BEl FhE 237 V) BEl FhiE 237
1 ) =—RB 181 76 (38.38) BERE BER 84 (42,42 iE Kt BEEEKR 89  (43.46) xR BE B—  xv57-12
QW B 8XEEKR 76 (37.39) - ME TE BB - ol 25 &8 89  (42.47) ®RiB BRAR YE—BB AEA
BRE BY s=xRAA® 76 (37.39) YW EX #EE 84  (42.42) 84 EBE 5ABE umoSyws 90 (45.45) x5 2IF Bh EAEK
4 NE B  teavkeava=r 17 (38.39) B ="—B0 HAEPV 84  (41.43) BB 260 noanssoav 90 (44, 46) & EMN BT mmiHaS0
st X PR 77 (38.39) 5 A RE =stFvy 85  (44.41) AW B K=K 90 (44, 46) xiB MW EE  BER
TR P  H=2EK 77 (38.39) MARE ZtFuy 85 (43,42 HEHE BeR 90  (44.46) xR AR B xcroumcvr
7 EEFM ZLBi AEK 78 (39.39) ER FER  H=E2EK 85  (43.42) B ABR 1| 90  (43.47) x5 BN BB FE
BN = KER 78 (38, 40) By Bth  Fvwer 85  (41.44) B BN kPELroZ 90 (42,48) x5 KR F08A  FEREHSO
WA B8 R 78  (37.41) AR K= orvuzs— 85 (40, 45) VD 3Bt REEE 90  (42.48) xRis SEBEE YRS
10 3 Fh  #® 79 (39, 40) 50 BB RB  xmzx-mmis 86 (44.42) 91 B s@-oTz~ 91 (48.43) x5 EBH BT =ZuEmw
FO BN /B 79 (37.42) RS BN m=8EXK 86  (44.42) mIIEBE v9yooz 91 (46, 45)
12 MW B #TE 80  (42.38) KW S =+ 86  (44.42) =i BE B0 91 (46, 45)
Eik A BAsR 80  (41.39) & BA35A AURZ=PY 86 (43.43) BlF E2 %2 91  (44.47)
S BE =g8EK 80  (41.39) 8 KE xroukrvr 86 (43.43) BK &E3A  orvuzs— 91 (43.48)
S HE 1} 80 (40, 40) P }ABR #ERF 86  (41.45) 96 A XE 2E 92  (47.45)
NS 168 =i 80 (40, 40) RIE 5 R 86  (41.45) BT BT =B 92  (45.47)
8% 8 poEER 80 (37.43) B -8 umsSvvs 86 (41.45) MR Al =FE 92 (43.49)
MITEXR  Lrum-— 80 (37.43) BEES 86  (41.45) 99 JII& —BR =RZ 93  (46.47)
BT ER GVG/\EF 80 (36.44) 50 HIFEH  WESRA 87  (46.41) B @ ZHSHT 93 (44.49)
20 BEA FOK  TFE=E 81  (42.39) Ml FEH  F= 87  (46.41) =H A JvF—Y 93 (43.50)
Es#EZ%E KEK 81  (41.40) W BARE BrEsaA 87  (44.43) =t BB EAER 93  (43.50)
FN BK Zm 81  (40.41) DA BB—Bf &5 87  (43.44) 103 CE% YT azessyes 94 (48.46)
577 N =L B =] ] 81  (40.41) R IR E:ESN 87  (43.44) Lk BfT =+ 94 (48, 46)
0 BB  Juvseovr 81 (40.41) IBE 18 ATE Rt 87 (42, 45) K ZB  xEX 94  (46.48)
| B BERAB® 81  (39.42) =S5 *DQ& SR 87  (42.45) B 2% =tmn 94 (45, 49)
HERAK 155 81 (39,42 FEEZ KEK 87  (42.45) 107 A FE—BR KEK 95  (48.47)
e B BAKEKR 81  (37.44) B2 F0IE xcoumevr 87 (40, 47) TE E— HEEK 95  (44.51)
28 B2 [B—Hf BrEsaA 82  (43.39) 68 i IBRX ==* 88  (46.42) 109 /\Ea 88 A - mRee 96 (47, 49)
T8 & XkPLroZ 82 (42.40) i BE 322 88 (44,44 Ml [E3 &=REHS0 96 (45.51)
B8 KBE )il 82  (41.41) Pl 88 #XEK 88 (44,44 111 2R B xrowmrvr 97 (48, 49)
B 2B TBsEtR 82 (a1,41) A3 E—BR EEsmA 88  (43,45) ER T3 xroumrye 97 (47.50)
W/ £ fFt =% 82  (41.41) ERAK BRXK BE 88  (43.45) 13 M8 K Bt 99  (46.53)
TP 88 maET2 82  (40.42) ST B2 BER 88  (43.45) s B RSB H=RE 100 (52, 48)
34 ERK B— EHa57 83  (42.41) Pk &5t KEXK 88  (42.46) FiEg RT ==REE 100 (48, 52)
WIE BE 2 83  (42.41) il IEFE  s=thw 88  (42.46) 116 I\ BN xroumrvr 101 (45,56)
=<l FoweA 83 (41,42 MANE2 Fyyeo 88  (41.47) Kt B BE KB
SOE B0 i) 83  (41.42) 7\ I =PeElLX 88  (41.47) i BH =B ==
@8 FE ==pHvrU— 83 (40.43) 78 ZFEBEZ = 89  (47.42) zE BA IS =zwuaEr
ME B— ozessyes 83 (40.49) %? KM HE 89  (46.43) 2 EAE —% BF5
e HE  BES 83  (39.44) Pl REE =8 89  (44.45) i RR BB H=FE
4 W HEZ  EH 84  (43.41) S8 1E— AULEwvo 89  (43,46) x5 INI SR— KsEE



